. 1,304,000,000

D,

7
L. 30Y Xto
< 4. 0.000028 <
Yy £1 x/0 2.8 xro
5. 0.000059 -5 6. 6,730,000 : ¢
5.6 x o 673 Xeo
7. 13,300 g 8. 0.0417 : 5
.37 xto Y17 xto
Write each number in standard notation.
9. 4 x10° 10. 1.8499 x 10°
400000 ($79900000
e J / L
11. 83 x 10°* 12. 3.582 x 107°
, 000823 . 000003537
13. 2.97 x 1072 : 14. 6.41 x 10°
0197 G, 7/ 0
15. 8.456 x 107 16. 9.06 x 107°
%‘J{}SG GeaY ,0000906

Circle the correct answer.

17. 8 x 10°is 2/20/200ﬁmes as great 18. 9 x 10"is30 /300 ZS,OOD>30,DOO times as

as4 x 102, greatas 3 x 107,

19. 4 x 107%i50.02 /20 times as great as 20. 4 x 107"?i50.00001 €0.0001./) 10 /1000

2% 107% times as greatas 4 x 10°,

21. The mass of a proton is about 1.7 x 10~2* g. The mass of a neutron is about the
same as a proton. The nucleus of an atom of carbon has 6 protons and 6 neutrons.
The mass of the nucleus is about 2 x 107 units. Circle the best choice for the units
this measurement is given in: g (kg /tons

2. The air distance between Los Angeles, California, and New York City, New York, is
about 3.9 x_10° units. Circle the best choice for the units this measurement is given
inicm/m

Unit 1 10

Kuedwo) Buiysijgng Linolsey uiiin uolyBnoy @

o'k

FL * [ TRto 73

104 xro"” 9
.0 XN-QSB

(6= @!’i}

B

L= ( ®¢o

-2
2.0/ xto 3ma
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